then verify that (B ) =B

() [a+3 4 }

l-...a.l..

4|
Jthen find a, b:

3
"6 b1 |6

AL Simplify: Sose(57)!

' §()

iv! Evaluate:

p—mam
| .

e+ |
= Find the value of x 10g.. 5 = o

vV
Simplify the W{ﬁ : -}’ ;
| sipfrg 1S i3

4x* -6y

'_il Write short answers to any SIX (G)' questions: @
(1) Find H.CF: 102xy°z,85x%yz,187xyZ?

TRE )

) X+
Solve the equation:

=2 X#-

2 | wn

2X +3
[iii! Solve for x |2x + 5| = 11
v, Writing in the form of y = mx + ¢ find the value of m and c:

X-2y=-2

V' Verify whether the point (2,3) lies onthe line 2x-y+1 = 0 or noL

Vi, Find the mid-point of the line segmentw @tf@@ w

poins A(0,0) and B(0:=5) ©

Vil Find the dim
Vil If ABG& :
i 1

= [\ |
s AN
X! NP IS a parallelogram find the values of m, n:

B e

arr of points:A(9,2),B(7,2)

ind fhe value of X.

4. Write short answers to any SIX (6) questions: 12
_i Define ratio.
|11 In equilateral triangle ABC, AD is bisector of angle A, then find

' the value of x°, y° and z°;

i) What mw shortest distance from an outside

he line?
1V Verify that the triangle having the following measures of the
sides is right angled a = 5¢m, b - 12¢m and ¢ = 13cm.

———

UJ ; : ,”1'.\ ‘-h',‘ﬂm
. Find the value of x in the figure: i

0 Find the area of figure. - _J

vii Define'area of the figure.
vlL Construct AABC in which: mAB = 2.5¢m.mm230°. mZB = 105"

X Define circumcentre. , m
G

Note: Attempt any b@@%ﬁa

5.) (a) olv ear equations by Cramer's rule: @

2x-2y=4
x+2y=6 |
( |1 Py ﬂ“ qer :
(b) Simplify: ] (:] + S(a".a’] ya#l @
6. /(a) Use Iog table to find the value of: {2547 f @
(b) Ifx+y+z=12 and ><2+y"‘+z2 =64 then find the value of xy#yz+zx (@)
;L](a) Factorize: X' - Y -4dxz+ 4z : @

(b) Find the H.C.F. by the division method:

X’ +3x% -16x+12, X’ +x*-10x +8 “@@
5(x-3) @ 0
r§_J(&l) Solve the equation: , ——5 @W @

(b) Construct lh he perpendicular bisector of its

W@ i
mBC = 2.9cm. mZA =30".mZB = 60°

@;(a) Prove that any point on the right bisector of a line segment Is
equidistant from its end points. @
(b) Prove that any point on the bisector of an angle is equidistant from @




